
Distance is 3

Distance is the absolute of subtraction:

| 4 - 7 | = 3      and also      | 7 - 4 | = 3



"What is the distance between the number of words in Shakespeare's dramatic 
d h b f d i Ch i h M l ' d i ?"canon and the number of words in Christopher Marlowe's dramatic canon?"

Shakespeare = 740,209 Marlowe = 101,146
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"What is the distance between the number of words in Stephen King's canon 
d h b f d i I A i ' ?"

9,000,000

and the number of words in Isaac Asimov's canon?"

King = 8,205,051                                        Asimov = 7,562,525
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÷ (division)÷ (division) 

NOT

- (subtraction)- (subtraction)



÷
740 209 101 146 7 32

NOT
740,209  ÷ 101,146 = 7.32

8 205 051 7 562 525 1 08NOT
-

8,205,051 ÷ 7,562,525 = 1.08



George Chapman 12
All Fools
The Blind Beggar of 
Alexandria

Women Pleased
A Wife for a Month

Robert Greene 4

Doctor Faustus
The Jew of Malta
The Massacre at Paris

Shakespeare 27
1 Henry IV
2 Henry IV
Much Ado About Nothing

Bussy D'Ambois
The Tragedy of Charles Duke 
of Byron
Caesar and Pompey
Sir Giles Goosecap

Alphonsus, King of Aragon
Friar Bacon and Friar Bungay
Orlando Furioso
James IV

Thomas  Middleton 16
The Second Maiden's Tragedy
A Chaste Maid in Cheapside
A Game at Chess
Hengist King of Kent

Antony and Cleopatra
All's Well that Ends Well
As You Like It
Coriolanus
CymbelineSir Giles Goosecap

The Gentleman Usher
A Humorous Day's Mirth
May-Day
Monsieur D'Olive

Ben Jonson 16
The Alchemist
Bartholomew Fair
Catiline's Conspiracy

Hengist King of Kent
More Dissemblers Besides 
Women
Michaelmas Term
A Mad World My Masters

Cymbeline
The Comedy of Errors
Henry V
Hamlet
Julius Caesar

The Revenge of Bussy 
D'Ambois
The Widow's Tears

John Fletcher 15

Cynthia's Revels
The Devil is an Ass
Every Man In his Humour
Every Man Out of his Humour
Epicoene

No Wit No Help Like a 
Woman's
The Phoenix
The Puritan
The Revenger's Tragedy

Love's Labour's Lost
King Lear
A Midsummer Night's Dream
The Merchant of Venice
OthelloJohn Fletcher 15

Bonduca
Monsieur Thomas
Rule a Wife and Have a Wife
The Chances
Th F ithf l Sh h d

Epicoene
The Magnetic Lady
The New Inn
Poetaster
Sejanus's Fall
Th S d Sh h d

The Revenger s Tragedy
A Trick to Catch the Old One
Women Beware Women
The Widow
The Witch
Y Fi G ll t

Othello
Richard II
Richard III
Romeo and Juliet
The Taming of the Shrew
Th T G tl fThe Faithful Shepherdess

The Humourous Lieutenant
The Island Princess
The Loyal Subject
The Mad Lover

The Sad Shepherd
The Staple of News
The Tale of a Tub
Volpone

Your Five Gallants

Peele 5
The Battle of Alcazar
The Love of King David and 

The Two Gentlemen of 
Verona
The Tempest
Twelfth Night
Troilus and Cressida

The Pilgrim
The Wild Goose Chase.txt
The Woman's Prize
Valentinian

Christopher Marlowe 6
1 Tamburlaine
2 Tamburlaine
Edward II

g
Fair Bethsabe
Edward I
The Old Wives Tale
The Arraignment of Paris

The Merry Wives of Windsor
The Winter's Tale
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Chapman 12 Fletcher 15 Greene 4 Jonson 16
Marlowe 6 Middleton 16 Peele 5 Shakespeare 27



Chapman 12 Fletcher 15 Greene 4 Jonson 16
Marlowe 6 Middleton 16 Peele 5 Shakespeare 27



variety of language = number of word types  y g g
number of word tokens



From Gilbert Youmans "Measuring lexical style and competence: The type-token 
vocabulary curve" Style 24 (1990): 584-599 (p. 588)



From Gilbert Youmans "Measuring lexical style and competence: The type-token 
vocabulary curve" Style 24 (1990): 584-599 (p. 588)



From Gilbert Youmans "Measuring lexical style and competence: The type-token 
vocabulary curve" Style 24 (1990): 584-599 (p. 588)



From Gilbert Youmans "Measuring lexical style and competence: The type-token 
vocabulary curve" Style 24 (1990): 584-599 (p. 588)



From Gilbert Youmans "Measuring lexical style and competence: The type-token 
vocabulary curve" Style 24 (1990): 584-599 (p. 588)



From Gilbert Youmans "Measuring lexical style and competence: The type-token 
vocabulary curve" Style 24 (1990): 584-599 (p. 588)



From Gilbert Youmans "Measuring lexical style and competence: The type-token 
vocabulary curve" Style 24 (1990): 584-599 (p. 588)



From Gilbert Youmans "Measuring lexical style and competence: The type-token 
vocabulary curve" Style 24 (1990): 584-599 (p. 588)



From Gilbert Youmans "Measuring lexical style and competence: The type-token 
vocabulary curve" Style 24 (1990): 584-599 (p. 588)



From Gilbert Youmans "Measuring lexical style and competence: The type-token 
vocabulary curve" Style 24 (1990): 584-599 (p. 588)



850



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S 2

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



20,000

15,000

PE
S

10,000

5,000

TY
P

5,000

0                      50,000              100,000              150,000            200,000              250,000
TOKENS



punctuation_to_remove = [',', '.', '!', '?', '"', ':', ';', ')', '(', '[', ']', '<', '>', '-', '{', '}', '/', '|']
d f i {}word_frequencies = {}

file = open ("in.txt", "r")
play = file.read()

for punctuation_mark in punctuation_to_remove:
play = play.replace(punctuation_mark, "")

for word in play split():for word in play.split():
word = word.lower()
if not word in word_frequencies:

word_frequencies[word] = 1
else:

word_frequencies[word] += 1
for w in sorted(word_frequencies, key=word_frequencies.get, reverse=True):

print (w word frequencies[w])print (w, word_frequencies[w])

print (len(word_frequencies))
print (len(play.split()))
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Marlowe plays

Shakespeare plays

Peele plays

Play by unknown author
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